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Topic:- General Studies

1) Find the measure of angle no. 4, if angle no. 7=110° polygon having six sides? /

afe © s[oN3T dler dgelst # HIOT HEAT 7=110°§, of hI0T TE&AT 4 & AT AT H

A
< SY 3-_Q
s\6
" 7‘ %v\
-

1. 60°

2. 90°

3. 110°

4. 70°

Correct Answer :-

e 70°

Correct Answer :-



« HUId - DIl

3) Ildentify the decomposition reaction / 3qge- ufafssar &t Wﬁl

1 H; +O- — > H-O

5 CaCQOs S CaO +CO-

3 NaOH + HCl — & NaCl +H0

4 CuO +2HCl ———» CuCl; + H20

Correct Answer :-

CaCQOs S CaO +CO-

4) A farmer gets 12% profit by selling a cartload of rice for Rs. 9,856. He incurs 12% loss by
selling the same quantity of wheat for the same amount. What is his total profit or loss? /dTdd

& TP WX §U PISAIS Dl 9,856 & B ATB (BT B 12% BT ATH UTW BT 21 A Dt FUTH
HTAT AT IR H TIBR I 12% DI g1 gicil 31 STDT Hol ATy a7 g1+ T 82

1. 1.44% profit %/ 1.44 <Y
2. 1.44% loss / 1.44% 6||E|

3. 2.88% profit / 2.88% ¢llYH

4. No profit, no loss /:Ta'ﬂgf'ﬂ'l-[, Hﬁs‘sﬁ

Correct Answer :-

o 1.44% loss / 1.44% SIIEI

5) In a certain code language, veny heny steny means get out man; steny shomy shelt means out of
danger. Which is the word for steny in that code language? / fo<ft @ Ss HTwT ﬁ', veny heny steny
DI Hddd % get out man; steny shomy shelt ®T Hddd % out of danger. 39 Bl UIIT & stenya? fora
DI T TS 2

1. Danger
2. Man
3. Out

4. Of

Correct Answer :-

e QOut



6) Ferns reproduces through / quIir a1 tl"_"f, & "I A USHH HId % |

1. Spores /Eﬂw

2. Root / ©IS
3. Buds /W

4. Stem / ol

Correct Answer :-

o Spores / EﬂGﬂ'UJ

7)  The sum of Tp*—4q*-9, —2q*-3-5p° and 8—Tp° + 6q°is

| Tpi-4q—9, 2q*—3-5p UG 8—Tp? +6q? T AT Bl

1. -5P3 + 12¢2

2. 19p3+2g%-5
3.-5p3-4

4.-5p3 + 4
Correct Answer :-

. -5p3-4

8) Frafufaa o w9 a1 gy arrr 32
1. IR BI @B AU b e dlel

2. TSI HTYUT GohR Ted 1T

3. U3 ST & foh AR SHFCER §

4. foorch =Y < gufen Ry ot

Correct Answer :-

. I3 AT & & T SHFCR

9) '"HRd YR (PTd) &b TTATPR &
1. TYTerRRoT g =

2. BRYERRO T

3. R Al



4. YHAR YR

Correct Answer :-

10) The phenomenon which does not cause soil erosion is / 48 tlﬁ'ﬂ?"ﬂ, o a® R Hal

UG TGl gl &
1. Deforestation /a=h=l1?1=r

2. Fragmentation of rock / T&I bl fad e

3 Floods / STe

4. Over grazing / AR

Correct Answer :-

* Over grazing / @R

11) Which Indian festival was commemorated at the United Nations for the first time in 20162 /

HYE AP H 2016 H UFAH IR DI AT AGR HATIT TT U1?
1. Pongal/tﬁTI?I

2. Raksha Bandhan / T&T€¢

3. Diwali / faaref!

4. Dussera / qRIgx]

Correct Answer :-

« Diwali/faareft
12)
5 . 5
The sum of =+ —+ — is .IE-I——-I—LEFI'ﬁI?T_
9 12 36 9 12 36

gl



w|m

9

Correct Answer :-

w|m

13) Complete the sentence choosing the right option:

The  Kkeptmy friend __ for weeks.
1. injury, incapacitated

2. assignment, detained

3. news, involved

4, interrogation, debarred

Correct Answer :-

« injury, incapacitated

14) Choose appropriate articles for the given sentence:

row of cardboard boxes were stacked in corner ready to be picked up and
transported.

1. A, an
2. An, a
3.A a

4. The, an

Correct Answer :-

15) Choose the option that picks out all the nouns in the sentence:

Alcoholism is a big problem in the country.



1. problem, country
2. big problem, country
3. alcoholism, country

4. alcoholism, problem, country

Correct Answer :-

« alcoholism, problem, country

16) A firm employs10 people and their wages are as follows: Rs. 35000, Rs. 25000, Rs. 15000, Rs.
12000, Rs. 12000, Rs. 12000, Rs. 12000, Rs. 12000, Rs. 10000, and Rs. 10000, respectively. Find the
mode of the salary. / U SHGHTY 10 TN &I HTH § 14T 8 MR 3% a1 19 §: 35000 70T,

25000%UT, 15000 FUT, 12000 FUTY, 12000 YT, 12000 YT, 12000 YT, 12000 YT, 10000 TUT,
10000 YT, Iq BT HIS (F§AD) ATd DIV

1. Rs. 35000 / 35000 =UU
2. Rs. 25000 / 25000%=UU
3. Rs. 10000 / 10000 =YY

4. Rs. 12000 / 12000 ¥=UU

Correct Answer :-

« Rs. 12000 / 12000 T

17) S sfaf B aU A FR & T AT & T U Weg T gATa B |
1. foraner

2. fordf=

3. forqm

4. TorSittasT

Correct Answer :-

. fordf=a

18) Choose the appropriate prepositions for the given sentence:

all the subjects the school curriculum, perhaps the most difficult subject is the
study languages.

1. For, against, of

2. After, of, of



3. Of, in, of
4. Under, in, of

Correct Answer :-

o Of, in, of

19) Choose the appropriate usage to fill in the blank:

Heis __ in time for meals.
1. not

2. not at all

3. never

4. scarcely

Correct Answer :-

e Never

20) Which one the following planets has the shortest period of rotation? /ﬁ'ﬂ ﬁ@m'ﬂ—&'

@1 Ha HH Ui 3afd g2
1. Mercury / g

2. Earth / gt

3. Jupiter / §g&Ufd

4, Neptune / d& 1]

Correct Answer :-

 Jupiter/ Q@Wﬁf

21) Who is the Director of the Enforcement Directorate? / Wﬁ?ﬁ%‘&ﬂ?ﬂ%ﬁﬁ?@ﬁ?%"
1. A.K. Singh Jyoti/@ﬁi’s’@ﬁﬁ

2. Karnal Singh/ Wﬁl—é

3.B.S. Bassi/ﬁff@a@

4. Nirbhay Sharma / i zmt

Correct Answer :-

» Karnal Singh/ A g



22) If MOTHER is coded LNSGDQ, then how is GRANDSON coded? / af& MOTHER @1 LNSGDQ I

PHIfed fpar STdT 8, N GRANDSON T HH HIfSd foraT wmram?

1. FQZMCRNP
2. FQZMCTNP
3. FQRBMCRNM

4. FQZMCRNM

Correct Answer :-

e FQZMCRNM

23) From which Veda has the famous Gayathri Mantra been taken? / s M HA fea ag 9
feram e 32

1. Rig Veda / G
2. Yajur Veda/tl\_{lﬁ_c{a?
3. Sama Veda / 91HdG

4. Atharva Veda / 3fUddg

Correct Answer :-

« Rig Veda /g

24) Choose the correct form of tense for the given sentence:

I___ averyinteresting book at the moment.
1. have read

2. reading

3. have been reading

4. am reading

Correct Answer :-

« am reading

1.8



2.6
3.4

4. 10

Correct Answer :-

Topic:- Assistant Veterinary Medical Field Officer

1) The funding agency for Cattle Insurance Scheme is JUR] CiCIKIEEIED ﬁ'ﬁ[
A gt gl

1. DAHD&F, Government of India / 3|QQE|§| Q_d U, HRd IR

2. State Department of Animal Husbandry / X[eY XD hT YR[UleTq faumr
3. Milk Cooperative Societies / Y w giafaar
4. Nationalised Banks / QT@W CED

Correct Answer :-

« DAHD&F, Government of India / é'QQﬂé' U4 TP, URd TRPR

2) When bandaging limbs or tail, as per the bandaging rules: / SId UTq 9T 12’3 W Q@ qied
g ot ugt FivE & el & SrgER:

1. Never overlap bandage to prevent wastage of bandage. / UEOI & HUHY B AH b fog et ot
Ugl Bl Sifcaard gl de |

2. Work from distal end upwards to prevent blood from pocketing at the end / 3{d T X DI STHT
B Y AD & I TR R W SR DI 3R HH B

3. Use safety pins to secure the ends to keep the bandage in place. / t@of P T8 TR IGA & forg
RRT 1 GRI&T & & ferd gRaf U1 &1 IuRT HY |

4. Do not include the foot if bandaging the lower limb so as to bear weight. / Tfd 37¢: UTq IR tl?f
FX @ © I Uid I A 9 v, o aoi e+ fordT o dab |
Correct Answer :-

« Work from distal end upwards to prevent blood from pocketing at the end / 3fd T Xad DI ST T
B Y AD & Il XTI RR A SR B 3R BH B

3) What is the drug used in the treatment of the tapeworm infestation? / SyarH a9 &

SUAR § SUUNT B &1 areil SN 91 82



1. Pyrantel pamoate / Rcd gEee
2. Piperazine / IPEEEIE]

3. Praziquantel / qﬁﬁ@m

4. Ivermectin / 3TgTHIGEA

Correct Answer :-

« Praziquantel / m%ﬂ@&rréa

4) Gaddi is a breed of WEI A P TP T B
1. Goat / dh]

2. Sheep / ‘ﬂ@’

3. Buffalo / 99

4. Cattle / U]

Correct Answer :-

« Sheep/ ‘ﬂ_s'

5) What is the term used to designate feeds that are high in crude fiber (>18%)? / artrh‘qw

BISER (> 18%) W T HISH &) 710 #1 & e #19 A Wsg &1 wanT forar sirar 82
1. Nutrients / TS

2. Additives / T1TSl

3. Concentrates / 1%

4. Roughages / el IR Al RPGRCIE]

Correct Answer :-

» Roughages / e IR Al RSP ERCIE

6) What is the antiseptic agent commonly used in wound dressing? / HTHI=Id: YTd %ﬁl’ﬂ H

AT 811 arerl gfaid (@R ®) e | g
1. Formalin / TTHIH

2. Povidine iodine solution / Tlaif&+ TSI faed
3. Bleaching powder / fa¥eH i[Uf

4. Acetic acid solution / m 3 faead



Correct Answer :-

« Povidine iodine solution / OTdIfe 3MATSH faaa=

7) The mange in animals is caused by ./ mﬁm, & HRUT

BT g

1. Fleas /fﬁﬁl

2. Ticks / fopaml

3. Lice /Gi

4. Mites / Y (HIgCH)

Correct Answer :-

« Mites / Y (HIgCH)

8) The common duck breedis ./ HTHY ddyq A% %—I
1. Rhode Island Red / AT 330 VS

2. Minorca / II'IET'hW

3. Khakhi Campbell / TT&! TS

4. Bantams / §&™

Correct Answer :-

« Khakhi Campbell / @] HUSd

9) What is the recommended level of calcium in case of a laying hen’s diet? / b 3US e

et It & STER & UTa | HieRray ot SRR W o gl 82
1.0.5 %
2.1.0 %
3.4.0 %
4.8.0 %

Correct Answer :-

e 40%

10) Growth hormone, which causes hyperglycemia is a result of J Q'@ gTHIH,



1. Decreased peripheral utilization of glucose / W & HF GRY STIRT

2. Decreased hepatic production via gluconeogenesis / @ﬁﬁuﬁﬁﬁm & A Y HW Cal
HH IUlc

3. Increased glycolysis in muscle / AulREl | ?{@_d TATS DI
4. Decreased lipolysis / P H dH[-SHUYUCH

Correct Answer :-

« Decreased peripheral utilization of glucose / W & HH gR<T IggRT

11) Toxic substance present in leguminous trees is ./ PalgR qa i) 'Fﬁq:q' fawTea
e 3 |

1. Mimosine / TR
2. Trypsin / E’@Ff

3. Cyanogens / BSIREIE eS|
4, Thymine / e

Correct Answer :-

« Mimosine / FHAIRE

12) What is the brooding temperature in the first week? / tl?ﬁ &g A YUT dT9HTT @%‘T

CHURER) AT EIA1 82
1. 95°F

2. 60°F

3. 105°F

4. 70°F

Correct Answer :-

e 95°F
13) Indian Grassland and Fodder Research Institute is located at . 'J-I'R?ﬁ'q
TG Td ART STHYUT TR fRa g

1. Delhi / fa et
2. Jhansi/glﬁ

3. Karnal / h3ATd



4. Bangalore / STTAIR

Correct Answer :-

. Delhi / faeett

14) Pregnancy is maintained by ./ TYTaRIT & GRT AT DI
EIcik]

1. Corpus luteum/ Gid - fUus

2. Follicle/ BTl
3. Ovaries / ST

4. Testis/ UUT

Correct Answer :-

« Corpus luteun/ Uid - fUUS

15) What is the major function of Milk Producers’ Co-operative society? / g4 TGP

ehR Aftfa &1 uqa &1k w1 82

1. Marketing of milk / ¢¥ T fauuH

2. Branding and advertising for milk / ¢¥ & fog wiféT 3R fagm=

3. Facilitating milk production and collection of milk / g7 JdIg Gl ﬁﬁ‘iﬂ 3R <Y BT TG
4. Value addition of milk / ¥ & Jed H gfg

Correct Answer :-

« Facilitating milk production and collection of milk / g™ Sl Edl ﬁ%‘éﬂ 3R <Y BT UG

16) Choose the system used to measure the total energy value of the feed or forages. / Yo

T AR (WIS a1 BRE) Dt Fd SHoll e &I I & 1T gge qured! &1 a9+ H |
1. Digestible crude protein / =i SrRNfed Wi

2. Digestible ether extract / TR0 3R I

3. Total digestible nutrients / g ¢l PICENIGALNED

4. Biological value / Sfaw q4

Correct Answer :-

« Total digestible nutrients / Pl BIESRINRILNEY



17) What is crossing of F1 with either of the parents called? / HTaT-foaT § 9 foosdt Udh Cg
1Y F1 T B0 T HEardl o2

1. Test crossing / Tteme dapvur
2. Line crossing / TS b 0T
3. Strain crossing / d-I1d HhRU]
4. Back crossing / TR HhRUT

Correct Answer :-

« Back crossing / U HHUT

18) For amputation of the horn, which of the following nerve is blocked? / T & 3T

fasyea & <RM, e O @ o Wt dieT s gl 82
1. Cornual / 4T

2. Lingual / fST&T

3. Optic / PRSP

4. Nasal / 3TRISB

Correct Answer :-

« Cornual / 9{"[

19) The place where pigs are maintained is known as ./ T SITE ST Y3RT BT S@UTS B
St § S FEd 3l

1. Sty / @R (HCT3)

2. Stable / 3 ddd

3. Kennel / $dI-YUX
4. Aviary / U&l Sr=ITe

Correct Answer :-

o Sty / DT (H\CI'ir)

20) If the heritability of the traits is very high, then the method of selection adopted is
./ afe aeon a1 WIRad o1 dRImIfid 9gd 3= 8, df 3ruATd 18 wa =1 fafdr 8
|

1. Progeny testing / afd e
2. Family selection / UTRATR® =g+



3. Individual selection / SHIGITTd T
4. Pedigree selection / CRICGIERE]

Correct Answer :-

o Individual selection / Wﬁﬂ'ﬂ:{

21) Cattle Insurance Scheme is applicable to WAL CieI Iﬁ'GF-IT, UR ]

Qi)

1. Crossbred cattle / SIS 1S ug]

2. Buffalo / 9

3. Milch animal / gYTRs S[Hd}

4. All types of cattle and buffaloes / & YD & Uyl IR U

Correct Answer :-

« All types of cattle and buffaloes / Hd YD & Uyl 3R O

22) Ultra-sound imaging uses waves between 1 to ./ Ry i, 1 I

& ST B TN BT IUYNT HIAT 8
1. 10 Hz
2. 100 MHz
3. 10 MHz

4. 100 Hz

Correct Answer :-

« 10 MHz

23) Rabies is caused by virus. / ¥l CIERE) & BRI BT % I

1. Corona virus / BT CIERSS

2. Lyssa virus / CIgHl dIgXd
3. Paramyxo virus / PRyjtacal CIERSS

4. Picorna virus / UTghIAT A8

Correct Answer :-

 Lyssa virus / ISl dIgXY



24) Which of the following condition can be diagnosed by radiographic diagnostic imaging? /

ISahmet A SR & gr1 e 3 @ #14 d RAfa &1 M fear st awar g2
1. Cyst/ et

2. Hematoma / S1ERTEG

3. Abscess / Ta&T¥

4. Fracture / €31 €& (ShapaR)
Correct Answer :-

« Fracture / 3@ gcHdl (a’ﬁb_tl?)

25) One of complications of burns and scalds is QY 3R dgle &1 sifeadarsi &
qTH gl

1. Cyst formation / g‘cﬁ fmtor
2. Fistula formation and bleeding / TG0 FAATOT 3R Yepd AT0T (AR WIHTH 3R SelifEm)
3. Hematoma formation / FIQQIQE BRI

4. Shock / UdTd

Correct Answer :-

e Shock / UdTd

26) The latest central government scheme for conservation of indigenous cattle is

/ SRTST Y] & WR&UT & fT Ad a0 $g TRBR To-1 8 |
1. National Dairy Plan / QT@H ST IS

2. Livestock Insurance / Y[ CiE]

3. FMD-CP / T5hUHSI- Tt

4. Rashtriya Gokul Mission / TI'@T[ W R

Correct Answer :-

« Rashtriya Gokul Mission / Tl'@'q W R

27) The larva of flies is called as ./ AfRaaY &1 draf ,'l-ﬁ
FeT gl

1. Nits / g
2. Maggots / ﬁ"'ﬁﬁ




3. Pupa/ QgUI
4. Imago / Eﬁ"'ﬁ

Correct Answer :-

« Maggots / ﬁ"'ﬁﬁ

28) An F1 vaccine is used to control which of the following diseases? / F1 IRH Fufafed

N H A DI A I B i s & fore suai &Y ol 82
1. Marek’s Discase / AR I

2. IBD / 3Tsaal

3. Ranikhet Disease / JHRAd INT

4. CRD / Hl3RS!

Correct Answer :-

o Ranikhet Disease / IR AT

29) In which enzymatic step is glycolysis regulated? / foa Eﬂﬂ'ﬁiﬁ TROT H m
& frifaa fsan siran 82

1. Hexokinase only / W%ﬁm
2. Phosphofructokinase only / Rith IR IH P IbIgoT

3. Pyruvate kinase only / Rt wse’ac dpl‘é:li-l

4. All of the above / ?ﬂ:léaﬂ gt

Correct Answer :-

« All of the above / B'CI'EIH?‘[ gt

30) The study of collecting, compounding and dispensing of drugs is called ./ 3Nger
& T94, frgor SR faavor &1 e FEATAI G|

1. Pharmacometrics / q’ﬂﬂfﬂ'ﬁﬁ'@aﬂ

2. Pharmacodynamics / BTAIDG ST TR
3. Pharmacotherapeutics / W‘Tﬁﬁ?@m
4. Pharmacy / Pt

Correct Answer :-

» Pharmacy / Tt



31) During poisoning condition, which of the following agent is commonly used to induce

vomition? faurear & fRUfY & M, P d ¥ 19 Teie &1 IRHT, GTHR: S HYaM & e fFar srar
2

1. Magnesium sulphate / STfRem Tethe
2. Sodium bicarbonate /@%ﬂﬂ&lﬂﬁ@ﬁ?
3. Sodium chloride / Tif$TH FRES

4. Hydrogen peroxide / g5goH WRIgAES

Correct Answer :-

o Sodium chloride / TfgTH F@ARSS

32) What is the practice of giving supplemental feed to lambs called?/ ‘3}3 & g Bl W
UYRUT ¢ T HTY T HeaATdl 52

1. Creep feeding / fagdor =T @q q’ﬂ%ﬂ)
2. Total mixed ration / ¢ [GIEGKIRE!

3. Restricted feeding / PIRCIRGRYSE]

4. Challenge feeding / ﬁ?ﬁ T

Correct Answer :-

« Creep feeding/ﬁﬂ'd'UT T (T;ﬁgl'q hITS)

33) What instrument is used to measure the pressure in the atmosphere? / dTdTdRUT HeE

P AU & T H19 A SUSHT BT ST fHar Srar 82
1. Anemometer / Ga-THTUT
2. Sling psychrometer / T ATShIHIR

3. Barometer / ATgGTSATYT
4. Hygrometer / ST ATATHT (BTSUTHICR)

Correct Answer :-

« Barometer / W@

34) Commercial broilers are mainly used for J arforfsus® EIV'IE?R' HEId: &
fore Sua fovd 9imd §1

1. Egg production / 38T TG



2. Only for meat production / hdd HiF 3G

3. Both for egg and meat production / 3iS 3R A Jdre gl

4. Only for chick production / Had goll Sl

Correct Answer :-

« Only for meat production / dad Y IdTeA

35) The term ‘Genome’ is used for set. / I’ e, e & ford uahT
fearSmar 31

1. Haploid / 3FTfOrd
2. Diploid / fg3Iford
3. Polyploid / SgYf0Td
4. Triploid / BfOr

Correct Answer :-

« Diploid / Ia?!iﬁla

36) Which of the following vaccines is used as calf hood vaccine? /A A P S B

PTH §S AR & U A ST BT 1T 82

1. Foot-and-mouth disease / W—ﬁﬁ

o O

2. Hemorrhagic septicemia (H.S.) / QG[JdHIan Yldsildrep ddl (TH.UY.)

3. Brucellosis / q@ﬁﬁm
4. Rabies / &9l

Correct Answer :-

« Brucellosis / @?ﬁﬁm

37) Which is the longest period in estrous cycle? / Hq dh (THISH HTID 1) H gad st
Aty oI A 72

1. Estrus / Haddh

2. Metestrus / Haald
3. Diestrus / HahTd

4. Proestrus / QU4 (FAHGYd)

Correct Answer :-



o Diestrus / Hadh[d

38) Common chemicals used for fumigation are L YHA & forg SuahT f6d
ST aTel ATHIRI TH10 & |

1. HCHO & KMnO, / HCHO 3[R KMnO,
2. Only KMnO, / $dd KMnO,

3. Only HCHO / dd HCHO
4. Povidone iodine / TIfASM SIS

Correct Answer :-

- HCHO & KMnO,4 / HCHO 3R KMnO,

39) The antibacterial effect of the fluoroquinolones is due to inhibition of which of the

following? / FARIBIA BT SiaroRIeh yuTa e § & frasds Ay & R gar 32
1. Protein synthesis / Ui YReyor

2. Cell wall synthesis / DIRIBT FNRT FRATT

3. Nucleic acid synthesis / W 3T HRATT

4, Folic acid synthesis / AN ESESL LI

Correct Answer :-

 Nucleic acid synthesis / W ISR Y

40) Colour sexing genes in poultry are ./ paPpcUreld H T fiftir B_C‘F[F«'T S|
(@R ARG Sf) B &

1. Sex-linked cross / m b
2. Sex-limited cross/ TeliT e e
3. Sex-influenced cross/ TelTTeM THx

4, None of the above / E"Eléaﬂ HI IS T8l

Correct Answer :-

« Sex-linked cross / felNTIE @Y Tahx

41) The heartworm infection in dogs is transmitted by ./ Qﬁ'ﬁ | EW'&[

AU, Fgrrafagarg




1. Mosquitoes / HadYX
2. Ticks / fabett

3. Lice /Gi

4. Fleas /ﬁﬁ

Correct Answer :-

« Mosquitoes / H®SY

42) The urinary bladder is absent in J

TR H aqufRua giar g |
1. Dog / Pl
2. Fowl / W13d

3. Horse /'EhST
4.0x /9

Correct Answer :-

e Fowl/WMWI3d

43) Testosterone is produced by ./ SRR BT JdlcG,
& g1 frar SraT 81

1. Leydig cells in response to stimulation of LH / LH & d‘E':\IbI"I & L«Ii?idd\d( T AfST PR3

2. Steroli cells in response to stimulation of FSH / FSH & IeUT & Qﬁm T IRl
DIRABTSA

3. Leydig cells in response to stimulation of FSH / FSH & 3?:|C|:| & Qﬁ@ﬂ\?ﬂ o aofen
DRSBTS

4, Steroli cells in response to stimulation of LH / LH & \'SE':\ILI"I & UfaSaR # Wil HIRABIS

Correct Answer :-

 Leydig cells in response to stimulation of LH / LH & 3eI0A & Hi?ldd\d( T AfST SBT3

44) What is the most important economic trait of a layer bird? /AR aéﬁ BT 9ad

Hecaqut STfie w&or T 32
1. The number of eggs laid / QU T 30| DI I
2. The size of the egg / 303 HT HR



3. The weight of the egg / 3{US DT dol
4. All of the above / G'q?j?ﬁ gt

Correct Answer :-

« All of the above / G'q?jﬁﬁ gut

45) What are the enzymes elevated in animals suffering with Downer Cow Syndrome

(DCS)? / SR F1S g SRiTw) I fifsa wHa:l # 39 TogH | 32
1. AST & CPK / UTHE 3R Hidies

2. ALT & GGT / TUEC! 3R Sfeiiel

3. OCT & ALP / 3¢t SR Tuadt

4. GDH & SDH / STug 8! 3R Hugst

Correct Answer :-

« AST & CPK / TTHCT 3R Hites

46) The premium of the Cattle Insurance is subsidized to the tune of WAL CiEIkal

w3t 9eRe w® uwa far R
1. 40%
2. 50%
3.55%

4. 60%

Correct Answer :-

e 50%

47) A deficiency of insulin results in

sgfer ot ! o1 ufvomy
1. Rapid uptake of sugar / HT BT ol JaldgUl

i
MG

2. Low blood glucose level / [REEES ‘Q']\d;l\fi R
3. Decrease urine output / HA T hH 3dlq
4. Presence of glucose in urine / {A G| W ot Iufufa

Correct Answer :-

« Presence of glucose in urine / §F | W ot Iufufa



48) What is the basic genetic effect of inbreeding? / 3Id: U< BT o \"rl'lﬂilﬁ'ﬁ? UHTd T

FraTe?
1. Increased heterozygosity / 9G1 g [ASHZROIT
2. Decreased homozygosity / Tl _g'é JHYHSIT

3. Increased homozygosity / a—(.ﬁ E‘Ec JHYHSIAT
4. No effect at all on genetics / 3TARIP! TR fdepd YU 78!

Correct Answer :-

 Increased homozygosity / & G;nl E‘s‘ HHYTHIAI

49) Shearing is mostly practiced in WAL W'I's: DT AWM APAR W
fearSmar 3

1. Sheep / ﬂg

2. Goat / ShII

3. Horses / ’Eh%

4. Pig / {3}
Correct Answer :-

« Sheep / ﬂ—s’

50) Two important byproducts generated in oxidative pathway of HMP shunt
are ./ TIUHYY Rie & SATRITEl A § IUd ¢ & Hedyul IUlIG
g |

1. NADH and pentose sugars / Q'_'ng'Qa 3R U T
2. NADPH and pentose sugars / Q'_'nglC“Qﬂ 3R UEIT B
3. Pentose sugars and 4 membered sugars / U1 ST 3R 4 TES RSRIES

4. Pentose sugars and sedoheptulose / eIy RHIT 3R %ﬂ@ﬁ%@aﬁ

Correct Answer :-

« NADPH and pentose sugars / Q:nglchﬂ 3R U1 QB

51) The preferred energy rich feed ingredient for horse is ./ Eﬁ% & o uqy St
IS ST UeH 8 |

1. Oats / GF{E



2. Wheat / ﬁ‘é
3. Rice / dIdcl
4. Sorghum / IRTH

Correct Answer :-

. Oats/ﬁ?ﬁ

52) In terrestrial mammals, in which organ will the synthesis of urea takes place? / RIeg
TR §, R o & AT BT AT BT 22

1. Blood / B8R

2. Liver /9 d

3. Kidney / 9

4, Heart / gad
Correct Answer :-

« Liver/ddd

53) The chemical name of guanine is ./ T &1 IS 9| % |
1. 2,4-Dioxy-5-methylpyrimidine / 2,4- SI@3HTfa-5-AfyAARESH

2. 2, 4-Dioxypyrimidine / 2, 4-STS TR

3. 2-Amino-6-oxypurine / Z-Qﬁ)[:ﬁ-@m

4. 2-Oxy-4-aminopyrimidine /Z—GWH@A—WW

Correct Answer :-

« 2-Amino-6-oxypurine / 2-Q1ﬂﬁ‘r-6-3{Ta¥ﬂU1R—r{

54) Excess of calcium and deficiency of vitamin A may predispose the animal for i

mﬁaﬁraﬁ?ﬁaﬁqAaﬁw,mﬁ % forg ugdl 9 Uga R
|

1. Enteritis / 3{TI=NY
2. Gastritis / ‘:Rﬁlgiéﬂ

3. Uroliths / 23?”?'12‘[
4. Prostitis / mRefeg

Correct Answer :-



o Uroliths / QQ”%‘W

55) National Dairy Development Board (NDDB) was established in the year ./ ?T@'q

ST fpm s (@SS dad | A wyrfua fosar war um
1.1935
2. 1945

3. 1955

N

. 1965
5. 1945

6. 1965

Correct Answer :-
e« 1945
e 1965

56) An example of inhalant anesthesia is WA LSRG IBEGEIET] Udh JqleUl

g
1. Ketamine / $|E|1:||$:|
2. Propofol / PISIEA]
3. Thiopentone / FIAUEH

4. Isoflurane / @ﬂ?g@'@_”f

Correct Answer :-

« Isoflurane / GTIE@T@:[

57) Plague in humans is transmitted by the bite of a flea. / Tlﬂ'&ﬁ' H @ T

& Frer A ART g 8|

1. Rat /gl
2. Cat / fare(all

3. Dog / P ddTl
4. Bird / Teft

Correct Answer :-

« Rat/dgl



58) A nucleotide consists of ./ b ?I%Ghm, LI aﬂT %I

1. A nitrogenous base like choline / BIci-] o -1|s§\|w1-1“| &M

2. Purine or pyrimidine base + sugar + phosphorous / t{ﬁ_*[ 71 RIS &R® + 2t +
BIEhRY

3. Purine or pyrimidine base + sugar / B[R T TURTHSH &R + S

4, Purine or pyrimidine base + phosphorous / UI&:T g7 FARISH &R® + HIPRY

Correct Answer :-

e Purine or pyrimidine base + sugar + phosphorous / Ulﬁq g1 TORTEH &R + T +
BIEhRY

59) Which one of the following is a wet method of processing of grains? / fada P @,
ST & URIHRT $I TP et fafr 32

1. Rolling / §&T RIS
2. Roasting / HAT R-lFUE‘I)

3. Micronization / ATSSH TSI

4. Soaking / f¥RTIAT

Correct Answer :-

« Soaking / TRTIAT

60) The human malaria is caused by the bite of ./ W'ﬂﬁﬁtﬂ, Cg

HTe F HRUTEIT 3|

1. Female anopheles mosquito / HIGT Tl AedR
2. Culex species / W Sfd

3. Aedes species /Q@ﬂ\_ﬂﬁlﬁ

4, Mansonia species / =T S

Correct Answer :-

« Female anopheles mosquito / HIGI TSl AR

61) A commonly used protein which is a rich diet in poultry is ./ ¥b HHT:

UGN fbaT A are WA, S il argifuea A g meR e |
1. Maize/m



2. Soyabean / BIRICIE]
3. Jowar / SdIR
4. Sunflower extraction / W BRI

Correct Answer :-

« Soyabean / BSIRICIE

62) Mode of action of tetracyclinesisthe ./ WT{ 31 fopa fafer — 3l
1. Inhibition of cell wall synthesis / SITRTepT FHRT TLAWOT &1 SfRTaRIY

2. Disruption of microbial cell membrane / ﬁ&ﬂﬁﬂﬁ DIRIDT et o1 fage

3. Interference with metabolic processes / JUTITd UehH | gxaed

4. Inhibition of protein synthesis / Y1 YRAYT T SfRTaRIY

Correct Answer :-

« Inhibition of protein synthesis / I A0 BT SdRTeRIY

63) Cruciate ligaments are present in the joint. /
WIT® gy (Phige forde), AU A digg a7l
1. Elbow / TGl

2. Hip / A1fOT

3. Stifle / W

4. Shoulder / ThY

Correct Answer :-

. Stifle/ Rewd

64) The larval stage of dog tape worm, Echinococus granulosus, is /@_TIT%CHT:I

&1 ATal W], TP IS Fgarad, 2l
1. Cysticercus cellulosae / R THT Jqarat

2. Cysticercus bovis / RIETIHT Sifay

3. Hydatid cyst / TTsSic8 I

4. Coenurus cerebralis / HISY TSI

Correct Answer :-

. Hydatid cyst / TsSCS Ue



65) What is the major side effect of using aminoglycoside antibiotic? / m‘m

TETTIIED BT STANT H BT GBI gHUTT HT 82
1. Hypersensitivity reaction / 3ffagdg-TRierdr ufdfsbar
2. Bone marrow depression / 3R T 3{adTg

3. Embryotoxicity / YUIR[d
4, Deafness and renal damage / dgRIU- GﬁT '{Jﬁ Pl &‘n%f

Correct Answer :-

» Deafness and renal damage / dgTU- 3'ﬁ? ﬂ_zf Pl &‘n%f

66) Total blindness in animals is called ./ W%I\'S‘ﬁ 'eItBT YT Dedldl

gl

1. Nictolopia / et

2. Glaucoma / TqTeh AT
3. Cataract / Ihﬁmﬁ‘g’

4. Amaurosis / AiBT-3fedT

Correct Answer :-

« Amaurosis / AABT-3{edT

67) The grinding part of the digestive system is known as ./ UTa® &F & gyu
YT BT FEI AT

1. Proventriculus / UfcoIaR
2. Gizzard / 6 (FISTS)

3. Crop / B

4. Beak / did

Correct Answer :-

. Gizzard/%tlilalé)

68) The main clinical symptom of Coccidiosis is .| DIRTEadr &1 LeLC2 ﬁmﬁﬁ?
LT E |

1. No diarrhea / ¥ - Eﬁ:ﬂ



2. Bloody diarrhea / @F‘ﬁ ad
3. Greenish diarrhea / EQ'W

4. Whitish diarrhea / b &

Correct Answer :-

« Bloody diarrhea / Tl &

69) The portion of the protein in feed that is not digested in the rumen is ./ IS |

N e RS e SR A uiRa A g |
1. Bypass protein / SUHN T

2. Non-protein nitrogen / R-UEA :IT_&"@TSF[

3. Rumen degradable protein / 0 BN g thT[q PG|

4. Soluble protein / ICRERIEE]

Correct Answer :-

« Bypass protein / ITARf U

70) The deficiency of iron in piglets causes /R Faa o ?ﬁ? P FHI S
PRU___ gIWA@IG!

1. Muscular dystrophy / Ui E‘{@WUT

2. Rickets / m

3. Piglet anemia / Hel Q:ﬂﬁltﬂ @1@? Q:ﬂ'&lzﬂ)
4, Hypoglycemia / E'Igch"aﬁ?ﬂﬁlm

Correct Answer :-

« Piglet anemia / der LegijEaes)| (fﬁ?@‘c’ Q:ﬁﬁl'q-l)

71) The antifungal agent used in the dandruff treatment is ./ = SUAR | Ugdd
T Toie 2l

1. Clotrimazole / Tﬁlﬁ}aﬁﬂ%f

2. Ketoconazole / BIeIdISld

3. Selenium sulphide / @ﬁﬁmm

4. Sulphur compound / HethX e

Correct Answer :-



« Selenium sulphide / YT b3S

72) The digestive system is absent in WA ICEIGE| H GIHQ'@ET g ]
1. Trematodes / %ﬁrﬁ@m
2. Nematodes / THICIS

3. Cestodes / TLIS
4, Arthropods / 3Ufars

Correct Answer :-

« Cestodes / ILIS

73) What is the relationship between response to selection and number of traits? / I 3|

SRt 3R &MU o1 T & St waT Y 32
1. Directly proportional / 3{Jh HIJUId
2. Inversely proportional / Wﬁﬁ

3. Twice as that of response / &HWT Eal 3-|‘,!:||
4, All the above / G'Cl'éaﬁﬂlﬁ

Correct Answer :-

« Inversely proportional / qu_cﬁ

74) Scald is an injury caused by ./ %AQTE, & HRU T arell TP e gl
1. Fire /319
2. Contact with hot object / T a¥q & Iq1Y W

3. Electricity / ﬁgqa
4. Hot oil / TTH dd

Correct Answer :-

« Hot oil / TTH dd

75) An example for non-protein nitrogen source is . ARWEN :I'IE@FF-[ EIGK
feueseeor 3l

1. Urea / gRAT



2. Copper sulfate / HIR b

3. Superphosphate / ﬁw\lﬁ@ﬁ
4. Di-calcium phosphate / 31‘5‘-%%21?11:[ BT

Correct Answer :-

« Urea / giRA



